Linear Increasing Model

Formula

y = mx+b

Slope (m) 0.34

9 |Intercept (b) 50
Beginning x -100
Increment x 2

80 Describe Trend Model

70 Model formula:

[ X-Vahue +intercept )

Humber of modeled observations: 101
Number of filtered observations: 0

A Inear trend model is computed for sum of Y-Value given sum of X-value, The model may be significant at p <= 0,05,

Hodel degrees of freedom: 2
Residual degrees of freedom (DF): %3
SS5E (sum squared error): 1.065a-026
60 HMSE {mean squared error): 1.073e-028
R-Squared: 1
Standard error 1.039-014
p-value (significance): < 0.0001
Individual trend lines:
® Panes Line Coefficients
2 50 Row Column pvale DF Term Value Stdir  bwale  povalue
> :ﬂ.;e NAghpe  <00D01 99 N-Nele 034 1597017 L12891e+016 < 0.0001
>
ntereapt 50 9.312e-016 5.3502e+016 < 0.0001
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Linear Decreasing Model

100
90
80
A inear trend medel is computed for sum of Y-Value given sum of X-value, The moded may be significant at p <= 0,05,
Model formula: {X-vahs +intercept)
70 Mumber of modeled observations: 101
Mumber of filtered ocbservations: 0
Model degrees of freedom: 2
Residual degrees of freedom (DF): 99
SSE (sum squared error): 2.908e-026
MSE (mean squared error): 2.937:028
60 R-Squared: 1
Standard error: L7 14014
p-value (significance): <0.0001
Individual trend lines:
o Panes Line Coefficients
2 50 Row Column p-value DE Term  Value Stdfrr  Evalue povalue
> fm Avalue <0.0001 99 X-velue 034 B.574e01B -3.96555e+016 <0.0001
>
intercept 50 4599016 L0O0013e+017 < 0.0001
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Log Base 10 Model

13
12
11
10
9 i A 2 !
Formula y=a+blogx
Value of a at x=1 0.9
8 Rate of growth (b) 5
Beginning x ( must be >0) 0.5
7 Increment x 2
R Describe Trend Model L= ]
3 6 . :
> Trend Lines Model
” A logarithmic trend model is computed for sum of Y-Value given sum of X-value. The model may be significant at p <= 0.05.
5 Hodel formula: { log(X-vahee) + ntercept )
ber of modeled obser 101
Number of filtered observations: 0
HModel degrees of freedom: 2
dusl degrees of freedom (DF): 99
4 SSE (sum squared error): 83582026
MSE (mean squared error): 8.442e-028
R-Squared: 1
Standard error 2.906e-014
3 p-value (significance): < 00001
Indrvidual trend lines:
Panes Line Coefficients
Bow Column p-value DE Term Value Stdfrr  t-value povalue
2 - X-phoe < 00001 99 log{i-value) 1.17147 4.717e015 4.60311e+014 < 00001
alue
ntercept 0.9 2082:014 4.32186e+013 < 0.0001
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Log Base e Model

28
26
24

22

20

Value of a at x=1 A
Rate of growth (b) 5
Beginning x ( must be >0) 0.5
Increment x 2

Y-Value

3.9754035
4.016s-027
1

5. 337014
< 0.0001

Line Coefficients
Bow Column p-value DF Term Valye Stdfrr  L-value povalue
4 - Avalpe < 0.0001 99 lop{d-value) 5 8,353e015 598615 +014 <0.0001

intercept 0% 3.687e-014 Z.44091e+013 <0.0001
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Exponential Growth Model Base e

Y-Value

1"

Humber of modeled observations: 101
Humber of fltered observations: 0

HModel degrees of freedom: r]
Residual degrees of freedom (DFE 55
SSE (sum squared error): 1.326e-029
MSE (mean squared error): 1348031
R-Squared: 1
Standard error 36620165
prwalue (significance ) < 0.0001
Tndividual trend hnes

Panes Line Coefficents

Row Column p-valwe DF Term
Lid Avalue  <0.0001 5% X-Vahue QU015

Value
ntercept 109851 2.901e-017 3.78712e+016 <0.0001

Stdrr Evalue pvalue
4975015 101505+016 <0.0001

Formula y=Ce
Value of Catx =0 3
Rate of growth (+) or decay (-) (k) 0.015
Beginning t -100
Increment t 2
[ Describe Trend Model l.. |
Trend Lines Model =
mwmm:whm&dwﬁmnwmwmﬂi-m. The model may be sigrificant at !
pos o
Model formula: {3-Vshue +intercept )
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Exponential Decay Model Base e

14
e kt
13 Formula y=Ce
Valueof Catx =0 3
Rate of growth (+) or decay (-) (k) -0.015
12 R
Beginning t -100
[ncrement t 2
11 .
Describe Trend Model )
e i s
10 B expanential trend made s computed for natural lag of sum of ¥Vl groen sum af K-sloe, The model smay be sgnificant at
p <= 0.05.
Maodel formula: { X-value +intercept )
9 bior o andided ok 22
Humber of filtered observations: 0
Model degrees of freedom: 2
Residual degrees of freedom (DF): %5
55E (sum squared error): 1.35%-029 £
8 MSE (mean squared error): 2.00%e-031
R-Squared: 1
sStandard error: 4, 437016
2 prvalue (significance]: < 0.0001
g 5 Individual trend lines:
> Panes Line Coefficients
Bow Column p-value DE Yerm  Valee tvalue Eovalue
“\uhe Xvahee <0.0001 %9 X-alue 0015 1.072e-018 -1.33882e+016 < 0.0001
6 interoept 105851 6.252e-017 1.7570%e+016 < 0.0001 A
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Exponential Growth Model Base 10

Y-Value
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Formula y=C 10
Vale of Catx=0 3
Rate of growth (+) or decay (-) (k) 0.015
Beginning t -100

& exponential trend moded i computed for natural log of sum of Y-Vslue ghoen sum of ¥-Value, The model may be significant st p <= 0L0%.

(X-value +intercept )

Stfer Lyalue e-value
<00001 55 Xusle 0.0345388 46200019 T461Me+016 <0.0001

ntercept  LOB61 26596017 4.0701%+016 <0.0001
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Exponential Decay Model Base 10

i
1
1
1
1
1
1

Y-Value

kt
Formula v=C 10
90 Vale of Catx=0 3
Rate of growth (+) or decay (-) (k) -0.015
Beginning t -100
80 Increment t 2
Describe Trend Model = ]
Trend Lines Model
70 e incponential trend medel i computed for nanural g of surm of T-4an gven fum oF XVau, The model may be sgrifcast atp <= 005,
Madel Farmula: { X-valan & inbercecd )
Hamber of modeled observations: 101
Fasfiber of ilered obiereatoses: 0
Mode degrees of freedom: 2
Residual degrees of freedom (DF): 55
551 [wwm sguared 2. 185008
M3L (mean squared enrorl 221000
60 R Squarcd: :
Samdard errar L7018
pewaler (significance ) < 0.0001
Indevidual trend lines:
Pancs Line Cotsents
Bow Colemn pyalue Df Term  Value Levnlue Eovales
50 1“-‘! Nl <QU0001 99 N-Wse  DU00A45333 L 10De-0LE -LEHHME+016 < 0.0001
Ftercept 1L0SS61  L22Se016 S.56833es015 £0.0001
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Polynomial Degree 2 Model

y : 2
\ Formula y=by+bx +bx /
K CoefTicient (by) -3000
Coefficient (b;) 0
» Coefficient (b,) 1
Beginning x -100
Increment X 2
5K [ Describe Trend Model =
Trend Lines Hodel
A polynomial trend medel of degree 2 is computed for sum of Y-¥alue given sum of X-Value, The model may be sgnificant atp
<= 0.05.
4K Hedel formula: { X-Valoe~2 +X-¥ahue +intercept )
Humber of modeled observations: 101
Number of filtered observations: 0
Model degrees of freedom: a
Residual degrees of freedom (DF): 53
3K S5E (sum squared error): 1.8459e-022
MSE (mean squared error): 18868024
R-Squared: 1
Standard error 1.373=-012
° p-value (significance): < 0,0001
3 Panes Lime Coefficients
Row Column p-valve DF Term  Vabue StdErr  L-value pvakue
:be Avalpe < 0.0001 58 X-Value"2 1 1386017 7.2153e+016 < 0.0001
Nvsle  3.106e015 7227016 O 1
1K intercept  -3000 63226014 -4.74557e+015 < 00001
0K
-1K
-2K
-3K
-110 -100 -90 -80 -50 -40 -30 -20 -10 0 10 20 30 40 50 60 70 80 90 100 110



Polynomial Degree 3 Model

0.0560736
00002564

50 60 70 80

1200K
1000K )
3
Formula y =byp+ bX + bx” + bsX
800K Coefficient (bg) 250000
Coefficient (b,)
Coefficient (b,)
600K Coefficient (bs)
Beginning x
Increment x
400K
[0}
3
©
=
> 200K
0K A potynomial trend moded of degree 3 is computed fior sum of Y-dalue grven sum of X-Value. The model may be significant at p <= 0.05.
Model formula: [ X-Vshse 3 + X-inkoe 2 + X-Vahue +intercept )
of modeled obser 101
Rumber of filtered observations: 0
Hodel degrees of freedom: &
-200K Residual degrees of freedem (DF): 97
225017
237018
1
4.868e-010
<0,0001
-400K Individual trend lines:
Panes Lime Coefficients
Bow Column p-wvalue DF Term — Value StdErr Lvalue Bvalue
:k! Avmue  £0.0001 97 Xvme~3 1 28716016 3.482816+015 =0.0001
Aveue*? 1.103e-014 1.4%-014 -1.53358
_600K Kvahe 18326011 1917012 379571
ntercept 250000 6.705e-011 3.72877e+015 <0.0001
-800K :
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Polynomial Degree 4 Model

12M 1 r
10M
o Type Eikai 3:@%:
Formula y=bytbix +box” + bex” +byx
Coefficient (by) 12500000
6M
Coefficient (b) 0
Coefficient (by) -10000
4M B
Coefficient (bs) 0
Coefficient (by) 1
M Beginning x -100
° Increment x 2
= i
Y / \
>- H
- -
Describe Trend Model (e
-2M Trend Lines Model =
A polyromial rend model of degree 4 i computed for sum of Ya¥alue given sum of X-value, The model may be sgnificant atp <=
0.05.
_AM Haodel formula: { -S4 + i3 + a2 + N-alue +intercent )
of obser 101
Wumber of filtered observations: 0
Madel degrees of freedon: 5
Residual degrees of freedom (DF): %
6M 558 (sum squared error): 1195014
h MSE {mean squared errork 1.243e-015
R-Squared: 1 B
Standard error 1.115e-008
pvabue (significance): < (U001
-8M Indrvidisal trend limes:
Panes Lime Coeffickents
Bow Column pwalue DE Term  Valug StdErr Lovalue ST
Y- Xealar <0.0001 95 X-valued L The trered e mocel estmation regures & e Singular matrix
e veersion. Full model statishs e unsupported.
-10M Nvahe~3 <3.574e015
N-vmue~2 10000
Nvaue  4.30%e-011
intercept 1. 25e-+007 =
12M Cony
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Polynomial Degree 5 Model

12M
2 3 4 5
10M y=b0+b1x+b;_.x +b3X +b4x +bj}{
Coefficient (by) 2500000
Coefficient (b;) 0
8M ;
Coefficient (b)
Coefficient (bs)
6M Coeflicient (by)
Coefficient (bs)
Beginning x
4M Increment x
(]
S
©
a
> 2M
[ Describe Trend Model 8
oM
A palymemal end model of degree 5 s computed far sum of Yoaisloe grven sum of Xobaioe. The model may be sprilloant atp <= 005,
Hisdel lormula: { XNt 5 b X 4 o Nl & Xl 3 o Nalon + Pieroent )
Mumber of msdeled observalioas: 001
Mumber of fitered observations: 0
2M Hiodel degrees of freedom: &
Residual degrees of freedem (DF) 95
SSE {sum squared errorl: 5.977%-013
HSE [meean squared error) 6.255e015
R-Squared: 1
Standand enron 5020008
p-value (sgnificance): < QU001
-4M Indnadual trend lmves:
Panes Line Coefficients
Bew Column pyaluc Of Term  Value Stdtrr Lyalue exalue
¥ e < 0.0000 95 X-seeS 0,001 The trend bre model erbmabon reguires & near Snguilsr madrts rverson., Full moded stafstos
e Lt
Xaphs 4 - 1de036
Naghw 3 355013
-6M Euphe} 15550012
Wi 5 3B 10
intercept 1 Ses005
f [ e |
-8M :' e
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